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srfefal sl 37w Instructions to the Candidates

1. S s & qd sreff ) v gftaen ud 3 U TR 3T U % SigeNl %l S Yel 1fet|Candidates

should read carefully the instructions in the Question Booklet and OMR Answer Sheet before start
answering.

2. el g SiFeE Sae § yigd el & SnuR W 3 faflaa wdan 3 fore e 2| 3R g fagmew
F EER A % g ufed AmEar W e ® A ekl enaffar & wedl dR W srid R e
SITE |Candidates have been called for the written test based on the data furnished by them in the online
application. If you do not possess the required qualification as per our advertisement, your candidature will be
summarily rejected.

3. e gie o, =il 1 YW U / WIS W ekdiar had ek it sufeufa § € % Fifieuicandidates

should sign the Admit Card/Photograph only in the presence of the invigilator in the Examination hall.

4. UH T 75 9A1 % Q1Y g4 qiedert o ©9 8 20| 94l 3 I A B e § U 31 UH IR 9FE WeH foRn w2

The question paper is in the form of Question Booklet with 75 questions. A separate OMR sheet is provided
for answering the questions.

X [P.T.O.]



10.

11.

12.

13.

14.

15.

16.

17.

St grfea wyrr § fiie fore o we gftrem Soft e, o1t v 3R 3t v9e § weM fohu e v W fopar st =
Question Booklet series code printed on the right hand top corner should be written in the OMR answer
sheet in the space provided.
el i vy gfeqent ° stoAn A vg U9 4. forean =nfeuicandidates should enter their Name and Roll
Number in the Question Booklet.
31 U AR I e 1 T s ot it wiafei e el /et e urge U9 4 29 =)
All entries in the OMR Answer Sheet should be with blue/black ball point pen only.
ug % fore Fuffta drear & s o fafiaa when sxgie e i 2mfl, P am sw e 2, e & e
Ush 21 s7fe ®9 & Gl 8| The written test will be of objective type based on the qualification prescribed
for the post with four answers indicated, of which only one will be unambiguously correct.
aregeff a3t UH TR ST v § T3 T rgevi & rgan et /Het U9 @ o7 W ST A 1 1w siae d gel
I HI AR 37f3ha =T BT Candidates will have to select the right answer by marking the comresponding oval on
the OMR answer sheet by blue/black ball point pen as per the instructions given in the OMR answer sheet.
¥l W AR 3 BN, IALA ¢ 6 I Y[ ofe a1 Terd 39U % ek Fritdta 3k wh | us & wg & forg
g I, TeAd I HHT ST/ Al questions carry four marks each, zero mark for no answer and one
negative mark for a wrong answer. Multiple answers for a question will be regarded as a wrong answer,
31 UH 3R H IT <1 € Al d sifehd i | g ifafis 371 ua 311 g=eh wer 781 55U SIei | Marking in OMR
may be done with utmost care. No spare OMR sheet will be provided.
qiten Bic o sfieR seget, aftehersh, HisTed ®iF, TIE a, Gedl qEsh, aiiem Sfae aur s 1 el
Sie o S it 3rqufa 7€ €t Smwfl| Computers, Calculators, mobile phones, Smart watches, reference books,
logarithm table and any other electronic gadgets will not be allowed inside the Examination hall,

5% Gfeqen § Iuciey SR 1 T 1 o foTq U= fahan ST @erar 81 Space available in the Question booklet
can be used for rough work.

qlieq % WU B % 94, 37 U5 TR U i F9 3ifwa fogor g & wre 3 qun frlers 1 qet ot w1 SR g
g 3 qum svweff sfafd 3197 e W@ &1 On completion of the test, tear off the OMR Answer Sheet along the
perforation mark at the top and hand over the original OMR Answer Sheet to the invigilator and retain the
duplicate copy with candidates.

qiieqT % veet 1 Y 62 ash 7t i wlen i @ S A 31afd 78T 21 Candidates are not permitted to leave
the Examination hall during the first one and a half hour of the examination.

11.30 SIS < =18 e g § aret 91 aret syeafela ot wer gfeent wen Y srgafa & smof)

Candidates leaving the examination hall after 11.30 hrs will be allowed to retain the Question booklet.

qlienr & ae, 1Al #1 3 ue R I use ud way ui Fles #) 9igan 91fu) After the examination,

- candidates should hand over OMR Answer Sheet and Admit Card to the Invigilator.
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@THYTH =T ‘T & fIT 997 -9F /Question paper for Catering Attendant ‘A’

W S=afie FFEHH G (ISRO) & WuH 3168 4 27

Who is the first Chairman of Indian Space Research Organisation (ISRO)?
(a) WIHEL H19T ¥ / Prof. Sathish Dhawan

(b) =1 U, 37ega e / Dr. APJ Abdul Kalam

(c) eI TS %. % / Dr. MGK Menon

(d) =1 fosEm wERTE / Dr. Vikram A Sarabhai

frferfiaa § @ #19 “India 2020: A Vision for the New Millennium” A1He g % {=Rar 87

Who among the following has written the book titled “India 2020: A Vision for the New
Millennium™:
(a) <. %. Tu®eE / Dr. K Radhakrishnan

(b) #i. Sfi. "reaq A / Shri G Madhavan Nair
(c) S H?R@T"FI / Dr. K Kasthurirangan
(d) =1 wHLS. 37egel ™/ Dr. APJ Abdul Kalam

meffsf it < wEreAr” 4 faan

Gandhiji was called the name ‘‘Mahatma” by :

(a) ARt 78& 3 / Jawaharlal Nehru (b) TERdZH ¥TE ueet 4 / Sardar Vallabhai Patel
(¢c) wiEHE=seA/ Lord Mount Batten (d) T TA / Rabindranath Tagore

“eyare Tew’ a2

Hyderabad House is situated in :

(a) hreerar 8 / Kolkatha (b)  ==EH/Chennai

(c) 75T #d / New Delhi (d) 2euse® / Hyderabad

forferRad & &, wa % T o1 S A1 3 SR AT SR, SeTed Tl 27

Which among the following Organ in human body is producing the hormone called “Insulin”
(a) dr@-uf=/ Pituitary (b) ¥Hd / Liver

(c) T Uty (93Use)/ Thyroid gland (d) 3= / Pancreas

g 1fen (weren) & - faerfi wmw aa 27

Which Vitamin received from Sun Light:

(a) farf= C/ Vitamin C (b) faerfi@ B/ Vitamin B
(¢) @@ D/ Vitamin D (d) fa@fim A / Vitamin A
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12,

13.

afe e 1, 2019 Hrrerar o, d f@sw 31, 2019, 7% 1 @1 fm g ?
If January 1, 2019 was Tuesday, what day of week lies on December 31,2019?

(a) WTeER / Tuesday (b) ®mWaR / Monday

(¢) d¥9a”/ Wednesday (d)  @Er/ Sunday

ifer i o sremer

Chairperson of NITI Aayog is :

(a) 7w/ Home Minister (b) W HA / Prime Minister
(c) faw =t/ Finance Minister (d) st / Defence Minister

T 2019 s rifa o fore Arerer qreepn fore sfrar?
Nobel Prize for Peace for the year 2019 won by :
(a) AR ueh™ / Tayyip Erdogan (b)  Usft 3reme 31eft / Abiy Ahmed Ali

(c) Ui geEE / Antonio Guterres (d) Gﬁéﬁﬁia@ [l / Abdullah II of Jordan

‘TR STET e AT Tid TR e H 27

The song “Sare Jahan Se Accha” is in which language:

(a) f&<t /Hindi (b) 3/ Urdu

(c) sAmelt / Bengali (d) 91 / Telugu

U<t # wgw 9erd (substance) Fr=ferfiaa § @ -1 87
Which of the following substance is used in pencils:

(a) €&/ Lead (b)  =IHIA (IWeIE)/ Charcoal
(¢) %I / Phosphorous (d) wwge / Graphite

T o Gfeer i w&iredT (Preamble) i forem foran?

Who wrote the Preamble to the Constitution of India:

(a) SaTELETS Y& / Jawaharlal Nehru (b)  e1.sf.3m. et 3 /Dr. BR Ambedkar

(c) TsTTEERI S / Rajagopalachari (d) wERIgY 9ISy / SardarVallabhai Patel
g W 1 gEIerd ®

Head quarters of European Union is

(a) uf@ / Paris (b) =<1/ London

() sed / Brussels (d) U9/ Rome
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15.
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17.

18.

19.

“Fre1 9 (‘Nota Bene”) A1k ¥1sg o1 379 &

The meaning of the term ‘Nota Bene’ is:

(a) 3m@ERET / Exceptional

(b) e / To take notice of

(c) e e =i saweRal 781/ No need to be noted

(d) =efi fa=a1 9 @1 / Never Bother

Te-g F 27

What is laughing gas:

(a) 2@ ATETss / Nitrous Oxide (b) e HATFETES / Carbon Monoxide
(c) HeH satiaaTse / Sulpher Dioxide (d) 2<ieH Wiemmse / Hydrogen Peroxide
Sfer 1 3ga ——— H gl

Origin of Life is in:

(a) ¥R / Ocean (b) ¥fa/Land

(c) a7 /Air (d) <=9/ Moon

fr= 1 & Rl “Riva wreea @@ (World Health Day) 3 9 8 5= ST 27

Which one of the following is celebrated as “World Health Day™ :
(a) 8ur / March 8 (b) 730a / April 7
(c) 5H /June5 (d) 14 7@ / November 14

A <hl T GH= -9

First Newspaper in India:

(a) 3feu" ww / Indian Express (b) fefs = uaeed / Business Express
(c) usAIHd 290 / Economics Times (d) feft s sme sig / Hicky's Bengal Gazette

afiffes gl (Ring) H, &0 9o fohe Ty o1 wdieh 27
In Olympic Rings, Green Ring represents which continent:

(a) TUf¥RN / Asia . (b)y  ATRfET / Australia
(c) 31hlH / Africa (d)  19{is1 / America
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23.

24.

25.

draee sy, g usa 1 fera 27
Hirakud Dam is situated in which state :
(a) 3uu@vs /[ Uttarakhand (b)

(c) <AEhEn / Odisha (d)

FH-F1 A= - AL SR AT 27
Which Mosquito spreads * Dengue™ fever :

qe7 939 / Madhya Pradesh
gfvem smal / West Bengal

(a) UgSHUZHH! / Aedes Aegypti (b) wew / Kulex

(c) UAf%he® / Anofilas (d) ufew uesifaed / Adis Albopictus
2018 ¥ Gesiet fova =y =i forg <91 3 Sfrar?

Which country won the football world cup in 2018 :

(a) ITSile / Brazil (b) S/ Germany

(¢) @4 /France (d) 311/ Argentina
qTd o el ot U smmt (NH) 2

Longest National Highway (NH) in India is

(a) NH 17 (b) NH 7 (NH 44)

(c) NH47 (d) NH6

forar fordraren =t Faa  yafda foman s aesar 21

Money Bill can be initiated only in the
(a) <@ / Lok Sabha

(b) Ts¥EW / Rajya Sabha
(c) WHe%aHidad | Both Houses of Parliament
(d) 39U A & I3 7€l / None of the above

T sfeer srffram ! AR E3|

Right to Information Act came into force in
(a) 3RS, 2005 / 5" October, 2005 (b)

(c) Twww4,2005/ 4™ December, 2005 (d)

Faa 22, 2006 / 22" November, 2006
S 5,2006/ 5™ June, 2006
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28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

Correct word among the following series:

(a) Seperate (b) Excelence (c)  Diarroea (d) Queue
The old man lives in my neighbor hood is ——————— university professor.

(@ A (b) An (¢) The (d) On

I met him —————— my uncle’s home.

(a) At (b) In (¢) To (d) Of
She had a passion ——— dance.

(a) To (b) With (c) For (d) Of

Change the following sentence into reported speech:
Have you read “Othello™? The teacher asked me

(a) The teacher asked me whether I read “Othello”

(b) The teacher asked whether I would read “Othello”
(c) The teacher asked that I read “Othello”™

(d) The teacher asked me whether I had read “Othello”

Synonym of ‘dismal’

(a) Cheerful (b) Happy (¢)  Gloomy (d) Thoughtful
The opposition party a strike.
(a) callon (b) call set (c) call for (d) call off

Pick out the correctly spelt word:
(a) Anaesthesia (b) Anasthesia (¢)  Anesthesia (d) Anastheasia

Choose the sentence with correct order
(a) Why we can’t have a cup of soup at first? (b) ~ Why can’t we have a cup of soup at first?
(c) Can’t why We have cup of soup at first? (d) ~ Why have we can’t a cup of soup at first?

Antonym of compulsory is

(a) Uncompulsory (b)  Incompulsory
(¢) Occasional (d)  Voluntary
A of monkeys entered from forest and destroyed the Crops.
(a) Tribe (b) Army (c) Herd (d) Flock
Peter his home work before the teacher arrived.
(a) has complete (b)  was complete
(¢) had completed (d)  was completing

The bomb ———————— near the busy vegetable market.
(a) putoff (b) went off (c)  putacross (d) gotaway

7 712 CA



39.

40.

41.

42.

43.

44,

435.

46.

47.

48.

49.

50.

One word has been mis-spelt. Find the mis spelt word
(a) Psychologist (b)  Psychaitrist
(¢) Physiologist (d)  Psychoanalyst

Use the correct tense.

I (work) for two hours and I am now tired.
(a) had been working (b)  will be working
(c) will have worked (d)  have been working

Change the following sentence into Passive Voice:

The man fed the girl

(a) The man was fed by the girl (b)  The man feeding the girl
(¢c) The girl was fed by the man (d)  The girl feeding the man
Choose the meaning of the following idiom

“To pick holes™

(a) To find some reason to quarrel (b)  To destroy something
(c) To eat some part of an item (d)  To criticize some one
Nothing will happen, ?

(a) Won’tit? (b) Would it? (c) Willit? (d)
The rider his horse to victory.

(a) road (b) rode (¢) rod (d)
He ordered his servant :

(a) that he go home (b)  to go home

(c) that go home (d)  that he should go home
A government controlled by the rich:

(a) Oligarchy (b) Aristocracy (c)  Plutocracy (d)
It was a nice idea of you that house.

(a) buying (b) to buying (c) tobuy (d)
They the same mistake four times this month.

(a) made (b) have made (¢)  had made (d)
An excursion to Bengaluru by the school.

(a) is being organized (b)  are being organized

(c) is been organized (d)  are been organized

His academic performance should be taken into accounts.
Replace the underlined words with a suitable option.
(a) concerned , (b) considered (¢)  preferred (d)

8

Wouldn't it ?

Democracy

bought

are making

checked
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51.

52.

53.

54.

55.

56.

57.

58.

59.

0.333 x 0.666 =
(a) 0.181818 (b)  0.198198

(c) 0.18 (d) 0222

U ATtk hl A B 10% F1 T 7121 Tt 10% sreran | 3aht @y / &1 #n grfi ?
A person’s salary is decreased by 10% and then increased 10% . What would be his gain/loss?

(@) 1%em/ 1% gain (b) 1%=H/1% loss

() 2% /2% gain (d) @ FE S / None of these
frfafiaa g@en § qu gem =i fafae

Write the missing number in the following series:

10, 18, 45, 109, ....

(a) 208 (b) 230 (c) 234 (d) 256

300 37T 500 = == o fora= geand & & 7 4 o & gedt 27

How many numbers are there between 300 and 500 divisible by 7 ?
(@ 29 (b) 28 () 26 d 32

afe wa wrgfere 2rat 10 goii 7 32 Hiet st 2, ar 4 foh. i 5 1 5@ fopem ol enfi?
If a cycle tyre covers 32 meters in 10 rotations. how much rotations it will take to cover 4 Km?
(@) 1200 (b) 400 (c) 1800 (d) 1250

6587241173218 = ? +16218
(a) 58537 (b) 45537 c) 42319 d) 46436

7 2 9§t & faw, 2400 w931 W AT 384 T9U &, A =41t 1 wfawd w27

If interest for Rs. 2400/~ for 2 years comes Rs. 384/-, what would be the % of interest?
(a) 10 (b) 24 (c) 12 (d 8

g fopeft @ &1 15%, 27 2, af @ fraar 27

If 15% of an amount is 27, what is the amount?
(a) 180 (b) 27 (¢) 190 (d 210

T wlten 7 60% o Iefivl g | Al wlten & srgefiol w240 4, when § 33 vl A ot gem w7

In an examination 60% students have qualified. If the number of students not qualified in the
examination is 240, what is the total number of students participated in the examination?
(a) 500 (b) 600 (c) 400 (d) 700
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60.

61.

62.

63.

64.

65.

66.

67.

68.

o1 T, 3 ST el ) Ik ek T @ 9 w9 sifereh H o Al 39 6% o1 ST g1 | Al 36 Bl o1 fersha
Tod HT 27
When Ramu sold his umbrella for more than Rs.9 of its original cost, he got a profit of 6% . Then

what is the selling price of umbrella?
(a) 150 (b) 159 ) 169 (d) 180

afz A’ =125, 1 A 1 qea #0127
What is the value of A if A’=125
(a) 2 (b) 4 (© 5 (d 10

afe we safes wfd v 10% ¥ Tsafe oo W U o | Rs.25000/- 9T STHT 3T 2, a1 2 a9 =18, 39 ferat
T TH Y ;
If a person deposit Rs.25000/- in a Bank with a Compound Interest of 10% per annum, what

amount he will receive after a period of 2 years?
(a) 27500 (b) 30250 (€ 32750 (d) 35000

frrfrfaa 4 sidhva wemst 3 @, 8 @ ol w9 & fonfor Srareht w2
Among the following 4 digit numbers, the number completely divisible by 8 is:
(a) 1008 (b) 2018 (c) 3018 (d) 4108

@ H, I T 1 Idl Tse

Find the next number in the sequence:
49,196, 784, .....
(a) 2886 (b) 1568 (¢) 3136 (d 1784

ST Tk TS Y 360 T H o 71, = AT 25% <hY 1 2 B A SR FHAH R R?

When a cot sold for Rs.360. the seller suffers a loss of 25%. Then what is the cost of cot?
(a) 400 (b) 440 (¢) 500 (d) 480

38-3x5-8+27 =2
(a) 194 (b) 42 ) -12 d) 54

(0.01+0.1) —(0.01 x0.1) =?

(a) 0.004 (b) 0.022 (c) 0.109 (d) 0.209
0.0196 1 =g & =
Square root of 000196 =
@@ 14 (b) 0.14 © 0014 @) 1.04
10 712 CA



69.

70.

71,

2.

73.

74.

75.

U wlien H, T% Hel I & T 1 37 fGgn s @ o yelis ea 39t % AU 0.25 39 e S 21 v
Freeff 7 100 o1 o I 3L 75 37 9w foRd) | 389 e wwt 3 ot s e

In an examination, for each correct answer 1 mark is awarded and for each wrong answer 0.25 mark
is deducted. One candidate secured 75 marks while writing 100 questions. Then in how many

questions he got the right answer?
(a) 75 (b) 90 (c) 85 (d) 80

0.7+0.77 +0.777 +0.7777 =2
(a) 0.3271 (b) 3.0247 () 3.7777 d) 3.2277

afe 15, 25, X 3t 75 &1 3fted 40 2, 9 X F1qeg #4127

If the average of 15,25, X and 75 is 40, what is value of X?
(a) 60 (b) 35 (c) 45 (d) 50

U 159 o1 3 75000 F9C 2 371 wfaad 4% =1 o 9w 3ueht Shma wedt st 21 ) 4 ad @re, 39 a1es 1 hid
2t :
The price of a bike is 75000 and it decreases at the rate of 4% every year. Then after 4 years, the

price of the bike will be :
(a) 72000 (b) 71200 () 63700 d) 65200

T Ak 4 T T Rs. 25,00,000/- w9 1 @idier 377 38 Rs.30,00,000/- F951 7 =) 38 foramn wfdwra
BIIET gAY
A man purchased a House for Rs. 25,00,000/- and sold it for Rs.30,00.000/- What is the % of

profit he received?
(@) 25 (b)y 30 (c) 20 (d) 15

frforfaa & &, #9 a1 e e 27

Which of following is the highest ?
(a) 0.22 (b) 0.022 (c) 0.0022 (d) 0.202

Torm T o1 25%, 75 27

75 1s 25 % of what number?
(a) 150 (b) 300 (c) 450 (d) 100
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Space for rough work
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